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Which of the following would be an improper technique when using monetary-unit statistical sampling in
an audit of accounts receivable?

A. Combining negative and positive dollar misstatements in the appraisal of a sample.

B. Using a sampling technique in which the same account balance could be selected more than
once.

C. Selecting a random starting point and then sampling every nth dollar.

D. Defining the sampling unit in the population as an individual dollar and not as an individual
account balance.

Tests of controls for the occurrence assertion for purchases include all of the following except

A. Evaluating proper segregation of duties.

B. Tracing a sample of vouchers to purchases journal.
C. Testing a sample of vouchers for an authorized purchase order.
D. Testing a sample of vouchers for matching receiving reports.

When an auditor decides to confirm accounts receivable balances rather than individual invoices, it most
likely would be beneficial to include with the confirmations:

Copies of the client’s shipping documents that support the account balances.
Client-prepared statements of account that show the details of the account balances.
Lists of the customers’ recent payments that the client has already recorded.
Copies of the customer’s purchase orders that support the account balances.
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13.

14.

15.

16.

. Which of the following procedures would be most appropriate for testing the completeness assertion as it

applies to inventory?
A. Performing cutoff procedures for shipping and receiving,
B. Examining paid vender invoices.
C. Tour the client's facilities, and then analyze the repair and maintenance account.
D. Tracing inventory items from the tag listing back to the physical inventory quantities.

Which of the following explanations most likely would satisfy an auditor who questions management
about significant debits to accumulated depreciation accounts in the current year?

gowp

Prior years' depreciation expenses were erroneously understated.

Current year's depreciation expense was erroneously understated.

The estimated remaining useful lives of plant assets were revised upward.
Plant assets were retired during the current year.

‘Which of the following audit techniques most likely would provide an auditor with the most assurance
about the effectiveness of the operation of internal control?

A,

B.
C.
D.

Inquiry of client personnel.

Recalculation of account balance amounts.
Observation of client personnel.
Confirmation with outside parties.

Which of the following could be difficult to determine because electronic evidence may not be retrievable

after a specific period?
A. The timing of control and substantive tests.
B. Whether to adopt the testing strategies of substantive procedures or reliance on control.
C. The acceptance level of detection risk. .
D. The assessed level of inherent risk.

Which of the following procedures most likely would assist an auditor to identify litigation, claims, and

assessments?

A. Inspect checks included with the client’s cutoff bank statement.

B. Read the file of correspondence from taxing authorities.

C. Apply ratio analysis on the current-year’s liability accounts.

D. Obtain a letter of representations from the client’s underwriter of securities.

An auditor should obtain sufficient knowledge if an entity’s information system to understand the

Towp

Controls used to detect the concealment of fraud.

Controls used to assure proper authorization of transactions.
Process used to prepare significant accounting estimates.
Safeguard used to limit access to computer facilities.
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17.  Analytical procedures used in the overall review stage of an audit general include

A. Performing tests of transactions to corroborate management’s financial statement
-assertions.
B Retesting control procedures that appeared to be ineffective during the assessment of
control risk.
C. Gathering evidence conceming account balances that have not changed from the prior
year.
D Considering usual or unexpected account balances that were not previously identified.

18.  Which of the following procedures would am auditor ordinarily perform first in evaluating management’s
accounting estimates for reasonableness?

Test the calculations used by management in developing the estimates.

Obtain an understanding of how management developed its estimates.

Develop independent expectations of management’s estimates.

Consider the appropriateness of the key factors or assumptions used in preparing the
estimates.
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20.  Thereport in a review engagement provides
A. Limited assurance
B. Reasonable assurance
C. An opinion
D. A summary of findings
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23.
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An auditor finds several errors in the financial statements that the client prefers not to correct. The
auditor determines that the errors are not material in the aggregate. Which of the following actions by
the auditor is most appropriate?

A. Summarize the uncorrected errors in the working papers, but do not document whether the errors
cause the financial statements to be misstated.

B Document the conclusion that the errors do not cause the financial statements to be misstated, but
do not summarize uncorrected errors in the working papers.

C. Do not summarize the uncorrected errors in the worming papers, and do not document a
conclusion about whether the uncorrected errors cause the financial statements to be misstated.

D Document the errors in the summary of uncorrected errors, and document the conclusion that the
errors do not cause the financial statements to be misstated.

An auditor suspects that a client's cashier is misappropriating cash receipts for personal use by lapping
customer checks received in the mail. In attempting to uncover this embezzlement scheme, the auditor
most likely would compare the

A.  Dates checks are deposited per bank statements with the dates remittance credits are recorded.

B.  Daily cash summaries with the sums of the cash receipts journal entries.

C.  Dates uncollectible accounts are authorized to be written off with the dates the write-offs are
actually recorded.

D.  Individual bank deposit slips with the details of the monthly bank statements.

An auditor scans a client's investment records for the period just before and just after the year-end to
determine that any transfers between categories of investments have been properly recorded. The
primary purpose of this procedure is to obtain evidence about management's financial statement
assertions of:

Existence and understandability and classification.
Understandability and classification, and valuation and accuracy.
Rights and obligations, and existence.

Valuation and accuracy, and rights and obligations.
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Which of the following procedures would an auditor most likely complete to test the existence assertion
of property, plant, and equipment?

A.  Obtaining a listing of all current-year additions, vouching significant additions to original
invoices, and determining that they have been placed in service.

B. Obtaining a detailed fixed-asset register and ensuring items are appropriately capitalized.

C. Obtaining a listing of cwrrent-year additions and verifying that items are recorded in the proper
period.

D Obtaining a detailed fixed-asset register and ensuring depreciation methods are applied
consistently.




AR
#8

“e s

378
Eit %
fik: b

HrEBAE 100 FLERALTER LS HSAA

2 T =

*

s 378
z% b ®

26.

27.

28.

29.

Which of the following internal controls most likely would prevent direct labor hours from being
charged to manufacturing overhead?

Periodic independent counts of work-in-process for comparison to recorded amounts.
Use of time tickets to record actual labor worked on production orders.
Reconciliation of work-in-process inventory with periodic cost budgets.

Comparison of daily journal entries with approved production orders.
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In auditing a manufacturing entity, which of the following procedures would an auditor least likely
perform to determine whether slow-moving, defective, and obsolete items included in inventory are
properly identified?

Tour the manufacturing plant or production facility.
Review inventory experience and trends.

Test the computation of standard overhead rates.
Compare inventory balances to anticipated sales volume.
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Who should be responsible for preparing a purchase order, matching the receiving report and invoice
with the purchase order, and paying for the related purchase?

A.  The purchasing department is responsible for preparing the purchase order, but the treasurer is
responsible for matching documents and making payment.

" B. The manager of the department requesting the goods is responsible for preparing the purchase order,

the purchasing department is responsible for matching goods, and the accounts payable department
is responsible for making payment.

C.  The purchasing department is responsible for preparing the purchase order, the receiving
department is responsible for matching documents, and the accounts payable department is
responsible for making payment.

D.  The purchasing department is responsible for preparing the purchase order, the accounts payable
department is responsible for matching documents, and the treasurer is responsible for making

payment.

Which of the following activities most likely could be perpetrated due to the lack of effective internal
controls in the revenue cycle?

A.  Obsolete items included in inventory balances are rarely reduced to the lower cost of market
value.

B Fictitious transactions are recorded that cause an understatement of revenue and overstatement of
receivables. :

C.  The write-off of receivables by personnel who receive cash permits the misappropriation of cash.

D Merchandise received is not promptly reconciled to the outstanding purchase order file.
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30.

According to International Standards on Review Engagements 2400 (Revised) » the practitioner shall

design and perform the following procedures in obtaining sufficient appropriate evidence as the basis for
a conclusion on the financial statements as a whole? (1) Analytical procedures, (2) Reperformance, (3)
Inspection, (4) Observation, (5) Inquiry. '
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¥ = X M: Audit Procedures and Assertions (¥4 » £ 12 &)
Match the test of controls described below to the appropriate assertion it is used to test:

Assertions:

a) Occurrence
b) Completeness
¢) Authorization
d) Accuracy

¢) Cutoff

f) Classification

Test of Controls:

1) Recalculate financial information on a sample of sales invoices

2) Review of cash receipts journal for unusual items

3) Observe the endorsement of checks

4) Test a sample of sales invoices for the presence of authorized customer order and shipping document
5) Compare the dates on the sales invoices with the dates of the relevant shipping documents

6) Test a sample of cash receipts transactions for proper cash discounts.
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